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JshG Aluledia = ghd 1) 4baX) c s 315832 - 4

Aghd 4l i A Dolae ) A dad lialid) Alleddl (gl
! PR YA P I\ S NPT RN + PPE S G
oW A 55 e d §y =2 w23 o ( Taylor - Series Expansion )

. ( Steady - State Operating Level ) <.’ Le _,‘ B fauall
Flad Xz, X1 g0k il piid (F) hadd alal Lo b 4l s 4l
S50 A0 o (Jge S (A X 065 3 JEaSy . Xz, Xg 1A 55

by Jina
A b 5y by bi gy il B3 fusd) Aal of iy e o
D yamiall
X, = steady - state —value - of — x,
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ALl oy Sie Jlaxiuly Leati o3 ghd ) 4D DY ol ya3l
Sy F(%),%;) ) gall (o b il Al 8 lehad dga 5l

: ‘_J:J\
- _ oF _ oF _
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tdglh=2m: o83 i Al xe
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(3-4) J
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¢ Jaall

—oF. B+l 2 X -
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A
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CF

A AJC F

~QC,,F)=C,F+FC,~-C)+C (F-F)
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: g WS a3 Do(X) (Jle(4 - 4) Uatad
P PP 4 G(X) = 0.t 5-4)

p cuilise Cppaliagy X (B s suS Gl Laa p(x),q(X) 0o IS of S

Al (5 - 4) Wlaall w b o Je Jpaslly . X = 0 Laie icall
p ) o, X s g

y = y(x)

tgres X =0 kil xie YT 5y of kia) Gl (el o3 dladdl o g
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V' (x) =—p(x)y'(x) — g(x)p(x)..... s 6—4)
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n=1

538 3 Y(X) Aadll i (8 - 4) Alalaall e a1 ikl o
X =0 alal Jea
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S n-Daxm - S n-Tax" -3 6,5 -3 da,x" =0 (D)
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: 5y peall i LeSiy cylalan o (1) Lok i 450 ALubzdl elne
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Jnal 5 gl o Gans X 98 CDlalas o Jelaw (gl ol Alkadll 238
n==1_’|1=43 2JE§‘JJ55114325
p b gl ama lag ) 4l QLA oS

n=0. apc=0
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n
Bukdl Jic (Recurrence Relation) 41 5l Sl Aially 3 y3 (V) Al
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02=4—ao a =ia
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4 5 53
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) 2g—andl 85 hlGA jusliall iy Juala i, 4060 5 5kal iy
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:u.‘l .L-ul._l:l ,‘r‘i]\, 2._\;_,_331 .\L:l_c-&_]
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pof iy Alubusdl i
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bl JSAN 05 iy el Jall o Jgemall il ardi
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a,= 1 f(x)cos—dx n=0,12,... ---ee-e(12-4)
cC"*
-1 [f@sinZdr  n=1,2,3,0000eeeeee (13-4)
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Wil da A f() oS el pCln ~CcSxSC: Gyl
LU SN ja aylac Lo oDlel slaadll 35 4 Akl JS nic (2 4404,
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n=0 ¢ ¢
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(Complex Numbers) 3a—8aal) — i al sa <Y 5-4

-

Dl
=2 XY e IS o Cun (X + T Y) £l 0o aed b S a2l
Gd el dg = V-1 N JKEI Giymy g gd i 3l Lol i Slac
O3S Sl 33l of ol (M3 ) i3 e 8y s sl ey

IV osay dieim b SO 9X say ciEx e 3 g8 Ja¥l, Ofia Oe

A€yl SaeY) o cl el 1-5- 4
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Phal s gigyan 3 e cul i dldlas $35h oo LSl daeYl e
rof L g8l 1Y) S e g 4 eda alge S 8 77 e (-1)
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Pt e ald
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LR L)
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B RPN S
. . . ) .2
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